PRODUCTION ORDER

101550 ERDOS

SPRING 26

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com CHINTI AND PARKER LTD 10-11 Greenland Place 2nd floor LONDON NW1 0AP United Kingdom

Manufacturer Address:

INDUSTRIAL ZONE HANTAI DONGSHENG DISTRICT ORDOS CITY HANTAI TOWN DONGSHENG CITY, 017000 China, People's Republic Of Ship To: Torque Logistics (WO6) Wortley Moor Road Leeds LS12 4JH United Kingdom Docket Number: 101550

Docket Date: 24 September 2025

Docket Reference: SPRING 26 BASICS - C&P /

WHOLESALE

Payment Terms: 90 DAYS FROM SHIPMENT DATE

Shipper: TOLL GROUP

Shipping Terms: FOB

Delivery From: 12 December 2025 **Delivery To:** 12 December 2025

Comments:

PLEASE USE QR CARE LABELS FOR THIS ORDER

	KPS2326	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
I	WIDE LEG TRACK PANT	CREAM			5	8	8	8	5	-	34	US\$ 23.95	US\$ 814.30
	KPS2324	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	CROPPED SPORTY	PINK MELANGE			10	16	15	15	9	-	65		US\$ 1,318.20
	KAW2451	90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	CREW NECK CARDIGAN	LILAC		,	3	6	6	4	2	2	23	US\$ 20.95	US\$ 481.85
T	KSS2641	90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	BASICS POLO SWEATER	HOT PINK			3	5	5	4	3	-	20	US\$ 23.02	US\$ 460.40
	KPS2321	12GG 90% W0 / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	RELAXED ROLL NECK	PINK MELANGE			1	4	4	1	-	-	10	US\$ 23.31	US\$ 233.10
	KAW2451	90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	CREW NECK CARDIGAN	SOFT OAT			8	15	15	10	5	2	55	US\$ 20.95	US\$ 1,152.25
	KAW2451	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	CREW NECK CARDIGAN	LIGHT GREY			7	14	14	9	4	2	50	US\$ 20.95	US\$ 1,047.50
	KAW2451	90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	CREW NECK CARDIGAN	PINK MELANGE			16	27	26	22	12	2	105	US\$ 20.95	US\$ 2,199.75
	KAW2451	90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	CREW NECK CARDIGAN	DUSTY MINT			5	12	11	7	3	2	40	US\$ 20.95	US\$ 838.00

101550 ERDOS SPRING 26

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com CHINTI AND PARKER LTD 10-11 Greenland Place 2nd floor LONDON NW1 0AP United Kingdom

SPRING 2	26												
	KAW2451	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	CREW NECK CARDIGAN	SOFT YELLOW	,	,	5	12	11	7	3	2	40	US\$ 20.95	US\$ 838.00
	KAW2451	000/ WO / 400/ WG	.	D	\ \(\)						01	First/Make	T. 1.0 1
	CREW NECK CARDIGAN	90% WO / 10% WS BABY BLUE	Delivery From	Delivery To	XS 5	S 12	M 11	7	LL 3	3L 2	Qty 40	Cost US\$ 20.95	Total Cost US\$ 838.00
	KPS2322	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	WIDE SLOUCHY	CREAM			7	12	13	11	7	-	50	US\$ 23.33	US\$ 1,166.50
	KPS2322	90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	WIDE SLOUCHY	PINK MELANGE	Delivery From	Delivery 10	3	12	14	7	4	3	43		US\$ 1,003.19
												First/Make	
	KPS2322	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	Cost	Total Cost
	WIDE SLOUCHY	SOFT YELLOW			2	10	11	5	4	3	35	US\$ 23.33	US\$ 816.55
	KPS2322	90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	WIDE SLOUCHY	BABY BLUE			3	11	13	6	4	3	40	US\$ 23.33	US\$ 933.20
		ļ										First/Make	
	KPS2326 WIDE LEG TRACK PANT	90% WO / 10% WS DUSTY MINT	Delivery From	Delivery To	XS 6	S 16	M 15	6	LL 4	3L 3	Qty 50	Cost	Total Cost US\$ 1,197.50
	WIDE LEG TRACK PANT	DOSTT WINCE			O	10	13	U	4	3	30	US\$ 23.93	03\$ 1,197.30
-	KPS2326	90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	WIDE LEG TRACK PANT	PINK MELANGE			14	33	29	16	11	4	107	US\$ 23.95	US\$ 2,562.65
	KDOOOO	1000 00% N/O / 10% N/O										First/Make	
	KPS2326 WIDE LEG TRACK PANT	12GG 90% WO / 10% WS BABY BLUE	Delivery From	Delivery To	XS 6	S 14	M 13	L 5	LL 4	3L 3	Qty 45	Cost US\$ 23.95	Total Cost US\$ 1,077.75
B	KPS2326	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	WIDE LEG TRACK PANT	LIGHT GREY			13	35	30	11	8	6	103	US\$ 23.95	US\$ 2,466.85
	KPS2326	90% WO / 10% WS	Delivery Eng.	Delivery T-	VC	C				21	Otro	First/Make Cost	Total Cont
			Delivery From	Delivery To	XS	S	M	L	LL	3L	Qty		Total Cost
	WIDE LEG TRACK PANT	LILAC			5	12	11	5	3	2	38	US\$ 23.95	US\$ 910.10

101550 ERDOS SPRING 26

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com CHINTI AND PARKER LTD 10-11 Greenland Place 2nd floor LONDON NW1 0AP United Kingdom

SPRING 2	26												
T	KPS2326	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	WIDE LEG TRACK PANT	SOFT YELLOW			5	11	10	4	3	2	35	US\$ 23.95	US\$ 838.25
	KSS2501	90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	RELAXED HOODIE	SOFT OAT	20	200.,	8	20	17	6	5	4	60		US\$ 1,402.20
	KSS2501	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	RELAXED HOODIE	LIGHT GREY	Bonvery From	Bollvory 10	8	18	20	14	12	8	80		US\$ 1,869.60
A	KSS2507	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
A	CROPPED WIDE LEG	BLACK	Bolivery Frein	Bollvory 10	13	34	29	10	8	6	100		US\$ 2,445.00
	KSS2507	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	CROPPED WIDE LEG	LIGHT GREY			7	16	15	5	4	3	50		US\$ 1,222.50
Λ	KSS2507	90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	CROPPED WIDE LEG	NAVY		,	9	22	21	9	6	3	70	US\$ 24.45	US\$ 1,711.50
	KSS2641	90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	BASICS POLO SWEATER	NAVY		,	5	17	14	9	3	2	50	US\$ 23.02	US\$ 1,151.00
	KSS2641	90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	BASICS POLO SWEATER	CREAM			5	17	14	9	3	2	50	US\$ 23.02	US\$ 1,151.00
1	KSS2641	90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	BASICS POLO SWEATER	LIGHT GREY			5	17	14	9	3	2	50	US\$ 23.02	US\$ 1,151.00
	KSS2641	90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	BASICS POLO SWEATER	SOFT OAT			5	18	15	10	3	2	53	US\$ 23.02	US\$ 1,220.06
	KPS2326	90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
	WIDE LEG TRACK PANT	SOFT OAT			12	32	27	10	7	5	93	US\$ 23.95	US\$ 2,227.35

101550 ERDOS SPRING 26

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com CHINTI AND PARKER LTD 10-11 Greenland Place 2nd floor LONDON NW1 0AP United Kingdom

KAW2383	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	s	М	L	LL	3L	Qty	First/Make Cost	Total Cost
V NECK SWEATER	CREAM		-	4	9	9	6	4	3	35	US\$ 24.63	US\$ 862.0
KAW2383	12GG 90% WO / 10% WS	Delivery From	Delivery To	xs	S	М		LL	3L	Qty	First/Make Cost	Total Cost
V NECK SWEATER	BLACK	Delivery From	Delivery 10	4	9	9	6	4	3	35	US\$ 24.63	
KPS2321	12GG 90% WO / 10% WS	Delivery From	Delivery To	xs	S	М	L	LL	3L	Qty	First/Make Cost	Total Cos
RELAXED ROLL NECK	BLACK	Delivery From	Delivery 10	7		14	8	4	3	50		US\$ 1,165
KPS2321	12GG 90% WO / 10% WS	Delivery From	Dolivon, To	VC	S	М			3L	Otv	First/Make Cost	Total Cos
RELAXED ROLL NECK	HOT PINK	Delivery From	Delivery To	XS 7		M 14	8	LL 4	3L 3	Qty 50		US\$ 1,165.
KD00004	12GG 90% W0 / 10% WS										First/Make	
KPS2321 RELAXED ROLL NECK	12GG 90% W0 / 10% WS	Delivery From	Delivery To	XS 7	S 14	14	8 8	LL 4	3L 3	Qty 50	Cost US\$ 23.31	Total Cos
V											First/Make	
KPS2321 RELAXED ROLL NECK	12GG 90% WO / 10% WS NAVY	Delivery From	Delivery To	XS 7	S 14	M 14	8 8	LL 4	3L 3	Qty 50	Cost US\$ 23.31	Total Cos US\$ 1,165
	, 										First/Make	
KPS2324 CROPPED SPORTY	12GG 90% WO / 10% WS CREAM	Delivery From	Delivery To	XS 14	S 24	M 23	L 20	LL 12	3L 2	Qty 95	Cost US\$ 20.28	Total Co: US\$ 1,926
											First/Make	
KSS2501	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	Cost	Total Cos
RELAXED HOODIE	BLACK			10	29	29	11	6	3	88	US\$ 23.37	US\$ 2,056
KSS2501	12GG 90% WO / 10% WS	Delivery From	Delivery To	XS	S	М	L	LL	3L	Qty	First/Make Cost	Total Cos
RELAXED HOODIE	NAVY			8	24	25	8	4	3	72	US\$ 23 37	US\$ 1,682

Total Qty 2209 Total Cost US\$ 50,797.00